T3 (8,5), (3, —7) Arole] AYE FotH?

@D 13 ® 14 A 15 @ 16 B 17



ELERELEISE

o

)

A A(1, -3), B3, 7)o tgte] ABE 2 :
a, b)9t2: 3202 QE5t=H Qe, d)N ot a+b+c+d 9]
27
134 116 134 116
O -— O -5 ©) = @ = ® 20

5



AABC ] F B0 A(0,1), B(2,0) 011 FAFH0] G(2,1) % o,
BAY 00| HEES FotH?

@ (-1,2) @ (1,0) ® (2,1)
@ (3,2) ® (4,2)



!

=

A(a),B(b)(a > b)AFole] A2 ABE 50]

T

ZD
IS
ol
oF
e
~r

<k

I -
qH=7

o, A D(a - b) 2] 5

k13
=

~10]et

i
ol

Cla+0b)2

@ 5 3 6 @ 7 ® 8

D 4



rr 4

A A(-3,2), B(4,5) 004 22 Ao U= x5 19 A Po] 1

@ (-3, 0) @ (1, 0) ® (2, 0)
@ (-1, 0) ® (5, 0)



6. T 7 A(3,0), B(0,2)] tj5te] PA° - PB’ = 52 whEsts A P o]
2H7] o] Frg A9

@ -3x+2y+9=0 @ 3x+2y=0
® 6x-4y+9=0 @ -3x+2y=0

® —-6x+4y-5=0



HTHE 99 A A AG. 3). B(-3. 0), O3, 0) ol oo} AP +

BP’ + CP” 9] gto] Hart He He P, b) S, a+b
e

@ 2 ® 3 3 4 @ 5 ® 6



SH
=

® -18 ® -12 @ 9 ® 21

@D -24



9. HP@b)7t A y=3x+2-1<x<2)9= ¥ o, d Qa+
b,a - b) 7} UEH= 23] ] Fol=?

D 25 @ 35 ® 45 @ 545 ® 65



10. EgH 9ol = Al H A2, 10),B(-8, —14 =
o= sh= A7 ABC7E Qith. A 9] o] 5 EAlo] ¥ BC ot W=
de& Dt & o, DO HEE?

Q
=
=
N
Ju
H

@® D(5, 1) @ D5, -1) ® D(-5, 1)
@ D(-5, —-1) ® D(2, -3)



